
 

 

 

Worksheet 2 Memorandum – Data handling 

Mathematical Literacy – Grade 12 

 

1. a) 6.53     b) Brittney Reese 

 c) Yes. Bronze medal (Janay DeLoach came third) 

 d) Shara Proctor, Brittney Reese and Eloyse Lesueur.(2 successful jumps) 

 e) 𝑚𝑒𝑎𝑛 ℎ𝑖𝑔ℎ𝑒𝑠𝑡 𝑗𝑢𝑚𝑝 =  
6.55+6.89+7.12+6.54+6.77+6.72+7.07+6.35+6.88+6.67+6.76

11
= 6.76 

 f) Range: 7.12 − 4.29 = 2.83 

 

2. Arrange data in ascending order: 

 10   25   25   30   41   41   42   42   47   48   49   51   51   51   51 

 64   67   69   69   69   70   73   75   77   78   84   85   91   97   99 

 a) Mode: 51 

 b) 𝑀𝑒𝑎𝑛 = 

 
10+25+25+30+41+41+42+42+47+48+49+51+51+51+51+64+67+69+69+70+73+75+77+78+84+85+91+97+99

30
  

 = 59,03 

 c) Range: 99 − 10 = 89 

 d) 
19

30
 × 100 = 63.33% 𝑎𝑐ℎ𝑖𝑒𝑣𝑒𝑑 𝑜𝑣𝑒𝑟 50% 

 

3. a) Casual       

 b) Casual 

 c) Casual       

 d) 8 boys prefer traditional dress 

 e) 23 − 15 = 8 girls prefer casual dress 

 f) 32 + 23 + 24 = 79 people took part in this survey 

 

4. 3   3   3   4   4   4   4   4   5   5   5   5   5   5   5   5   6   6   6   6   6   7   7   7   8   8 

 a) 26 women were included in the survey 

 b) 
26

600
× 100 = 4.3% 

 c) Mode: 5 

 d) Median: 𝑝𝑜𝑠𝑖𝑡𝑖𝑜𝑛 =
𝑛+1

2
=

26+1

2
= 13.5 

  𝑀𝑒𝑑𝑖𝑎𝑛 =
𝑝13+𝑝14

2
=

5+5

2
= 5 
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 e) 𝑀𝑒𝑎𝑛 =  
3+3+3+4+4+4+4+4+5+5+5+5+5+5+5+5+6 + 6 +6+6+6+7+7+7+8+8 

26
 = 5.23 

  𝑀𝑒𝑎𝑛 ≈ 5 

 f) Range of shoe sizes: 8−3 = 5 𝑠𝑖𝑧𝑒𝑠 (𝑠𝑖𝑧𝑒 3, 4, 5, 6, 7, 8) 

g) No the results are not accurate, only 4% of the ladies in the area were surveyed, they 

could increase the sample size to at least 10% or 60 women. The results would also 

be more accurate if you took into account the size of specific shoes (eg: some people 

take their boots in a bigger size than their sandals). Or any other reasonable answer. 

 

5. a) A 2 year old boy with a head circumference of 48,5cm is in the 50th percentile. 

 b) 53 cm circumference 

 c) You have a head circumference that is bigger than 50 % of boys your age and also 

  smaller than 50 % of boys your age. 

 d) Median.     

 e) He is in the 3rd percentile. 

 f) Using only ten boys to draw up this chart would be an unfair test. You need to increase 

  the sample size to at least 10 % of the population in every age category.  

 

6. a) Median       

 b) 
160

4
= 40 𝑝𝑙𝑎𝑦𝑒𝑟𝑠 

 c) Above 25,5      

 d) 
160

4
= 40 𝑝𝑙𝑎𝑦𝑒𝑟𝑠 𝑂𝑅  𝑜𝑛𝑒 𝑞𝑢𝑎𝑟𝑡𝑒𝑟 

 e) Range: 54,4 − 0 = 54,4 

 f) 48,4 is in the top quartile, so Jacques Kallis has a batting average better than at least 

  75% or 120 of the other players. 

 g) The maximum. 

 h) 0 0  7 

  1 1  1  6  9 

  2 3  5  8  9 

  3 2  7 

  4 0  9 

  5 3 

  6 1 

  7 3 

  9 4 

  10 2  8   ∴ 6         1 = 61   𝑎𝑛𝑑   5          3 = 53 
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